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Taxing Income from CapitalTaxing Income from CapitalTaxing Income from CapitalTaxing Income from Capital

B d th ( i M d R t) i tB d th ( i M d R t) i tBroad theme (as in Meade Report) is to Broad theme (as in Meade Report) is to 
tax consumption rather than incometax consumption rather than income
Not primarily because this is more efficientNot primarily because this is more efficient
–– there are arguments both waysthere are arguments both waysthere are arguments both waysthere are arguments both ways

But because there is little chance of taxing But because there is little chance of taxing 
capital income coherently in practicecapital income coherently in practicecapital income coherently in practicecapital income coherently in practice
–– realized capital gainsrealized capital gains

i fl tii fl ti–– inflationinflation
While taxing consumption coherently While taxing consumption coherently 
should be achievableshould be achievable



Taxing ConsumptionTaxing ConsumptionTaxing ConsumptionTaxing Consumption

Indirect taxes not well suited to addressing Indirect taxes not well suited to addressing 
equity concernsequity concernsq yq y

Progressivity of the system as a whole Progressivity of the system as a whole 
achieved through the direct tax systemachieved through the direct tax system

Indeed we propose substantial broadeningIndeed we propose substantial broadeningIndeed we propose substantial broadening Indeed we propose substantial broadening 
of the UK VAT base, with compensation to of the UK VAT base, with compensation to 
poorer households through direct taxes poorer households through direct taxes 
and benefitsand benefits



Taxing ConsumptionTaxing ConsumptionTaxing ConsumptionTaxing Consumption

Three approaches to direct taxation of Three approaches to direct taxation of 
consumptionconsumptionpp

Pure expenditure tax (EET)Pure expenditure tax (EET)
–– Meade; cf. pensionsMeade; cf. pensions

Exempt all income from savings (TEE)Exempt all income from savings (TEE)Exempt all income from savings (TEE)Exempt all income from savings (TEE)
–– cf. ISAs; ownercf. ISAs; owner--occupied housingoccupied housing

Exempt normal return on savings (TtE)Exempt normal return on savings (TtE)
–– cf. ACE in corporate tax contextcf. ACE in corporate tax contextpp



Taxing ConsumptionTaxing ConsumptionTaxing ConsumptionTaxing Consumption

3 approaches are broadly equivalent in the 3 approaches are broadly equivalent in the 
absence of superabsence of super--normal returns (rents)normal returns (rents)pp ( )( )

Expenditure tax and allowance for normal Expenditure tax and allowance for normal 
rate of return on savings both raise rate of return on savings both raise 
revenue by taxing rentsrevenue by taxing rentsy gy g

Rate of return allowance can be viewed as Rate of return allowance can be viewed as 
an expenditure tax with deferred rather an expenditure tax with deferred rather 
than immediate tax relief for savingthan immediate tax relief for savinggg



Example 1Example 1Example 1Example 1

S £100 f thi ’ i iS £100 f thi ’ i iSave £100 of this year’s income in an Save £100 of this year’s income in an 
account that pays 10%account that pays 10%
Next year have interest income of £10 plus Next year have interest income of £10 plus 
principal of £100, a total of £110principal of £100, a total of £110p p ,p p ,
Standard income tax at 20% gives tax on Standard income tax at 20% gives tax on 
interest income of £2 afterinterest income of £2 after--tax interesttax interestinterest income of £2, afterinterest income of £2, after--tax interest tax interest 
income of £8, and a return of only 8%income of £8, and a return of only 8%
Disincenti e to sa e partic larl importantDisincenti e to sa e partic larl importantDisincentive to save, particularly important Disincentive to save, particularly important 
for poorer householdsfor poorer households
Exempting all interest income avoids thisExempting all interest income avoids this



Example 1 (cont)Example 1 (cont)Example 1 (cont)Example 1 (cont)

Expenditure tax at 20% gives tax relief of Expenditure tax at 20% gives tax relief of 
£20 on saving of £100 in first year£20 on saving of £100 in first yearg yg y
Then taxes withdrawal of £110 in second Then taxes withdrawal of £110 in second 
year giving tax payment of £22year giving tax payment of £22year, giving tax payment of £22year, giving tax payment of £22
After tax, the saver gives up £80 this year After tax, the saver gives up £80 this year 
and gets £88 next year, a return of 10%and gets £88 next year, a return of 10%
No distortion to intertemporal allocation ofNo distortion to intertemporal allocation ofNo distortion to intertemporal allocation of No distortion to intertemporal allocation of 
consumptionconsumption



Example 1 (cont)Example 1 (cont)Example 1 (cont)Example 1 (cont)
Now suppose that instead of giving tax reliefNow suppose that instead of giving tax reliefNow suppose that instead of giving tax relief Now suppose that instead of giving tax relief 
of £20 this year, we carry this forward, of £20 this year, we carry this forward, 
markedmarked up at the interest rate of 10% andup at the interest rate of 10% andmarkedmarked--up at the interest rate of 10%, and up at the interest rate of 10%, and 
give tax relief (against the expenditure tax) of give tax relief (against the expenditure tax) of 
£22 next year£22 next year£22 next year£22 next year
The saver then gives up £100 this year and The saver then gives up £100 this year and 
gets £110 next year, just as in the nogets £110 next year, just as in the no--tax tax 
case, a return of 10%case, a return of 10%
These two approaches are equivalent These two approaches are equivalent 
provided the individual is indifferent betweenprovided the individual is indifferent betweenprovided the individual is indifferent between provided the individual is indifferent between 
tax relief of £20 in year 1 or £22 in year 2tax relief of £20 in year 1 or £22 in year 2



Example 1 (cont)Example 1 (cont)Example 1 (cont)Example 1 (cont)

We can achieve this here, and more We can achieve this here, and more 
generally, by:generally, by:g y, yg y, y
Providing a Rate of Return Allowance (RRA), Providing a Rate of Return Allowance (RRA), 
calculated as the riskcalculated as the risk free (nominal) interestfree (nominal) interestcalculated as the riskcalculated as the risk--free (nominal) interest free (nominal) interest 
rate times the stock of savings (at historic rate times the stock of savings (at historic 

) f) fcost) at the end of the previous yearcost) at the end of the previous year
–– 10% of £100 = £10 in the example10% of £100 = £10 in the examplepp

Taxing (nominal) income from savings plus Taxing (nominal) income from savings plus 
any realized (nominal) capital gains net ofany realized (nominal) capital gains net ofany realized (nominal) capital gains, net of any realized (nominal) capital gains, net of 
this Rate of Return Allowancethis Rate of Return Allowance



Taxing Capital IncomeTaxing Capital IncomeTaxing Capital IncomeTaxing Capital Income

With many assets, offering different mixes With many assets, offering different mixes 
of cash income (interest dividends) andof cash income (interest dividends) andof cash income (interest, dividends) and of cash income (interest, dividends) and 
capital gains, taxing the normal return capital gains, taxing the normal return 

t f it l i i ift f it l i i ifcomponent of capital income in a uniform component of capital income in a uniform 
way becomes extremely challengingway becomes extremely challenging

InflationInflation → taxation of nominal returns→ taxation of nominal returnsInflation Inflation  taxation of nominal returns taxation of nominal returns
–– full indexation is theoretically possiblefull indexation is theoretically possible

b t i l t d i tib t i l t d i ti–– but never implemented in practicebut never implemented in practice



Taxing Capital IncomeTaxing Capital IncomeTaxing Capital IncomeTaxing Capital Income

Taxing capital gains on realization rather than Taxing capital gains on realization rather than 
on accrual favours assets with returns in the on accrual favours assets with returns in the 
form of capital gains rather than cash income form of capital gains rather than cash income 
(even if realized gains are taxed at full (even if realized gains are taxed at full ( g( g
marginal rates)marginal rates)

Ad t i ith h ldi i dAd t i ith h ldi i dAdvantage increases with holding periodAdvantage increases with holding period
–– locklock--in effectin effect

Incentives to convert income into capital gainsIncentives to convert income into capital gains
l til ti id i iid i i–– complex anticomplex anti--avoidance provisionsavoidance provisions



Taxing Capital IncomeTaxing Capital IncomeTaxing Capital IncomeTaxing Capital Income
I th k h t t it l iI th k h t t it l iIn theory we know how to tax capital gains In theory we know how to tax capital gains 
on an accrualon an accrual--equivalent basisequivalent basis
–– but never implemented in practicebut never implemented in practice

Expenditure tax and RRA approachesExpenditure tax and RRA approachesExpenditure tax and RRA approaches Expenditure tax and RRA approaches 
both achieve uniform treatment of capital both achieve uniform treatment of capital 

i d h i d d t ii d h i d d t igains and cash income, and do not require gains and cash income, and do not require 
indexation for inflationindexation for inflation
Hence avoid distortions to form and timing Hence avoid distortions to form and timing 
of savings which are inherent to taxingof savings which are inherent to taxingof savings, which are inherent to taxing of savings, which are inherent to taxing 
capital income, and have no obvious meritcapital income, and have no obvious merit



Example 2Example 2Example 2Example 2

Save £100 for 2 yearsSave £100 for 2 years
RiskRisk--free interest rate again 10%free interest rate again 10%RiskRisk free interest rate again 10%free interest rate again 10%
Choice of 2 assetsChoice of 2 assets

Asset I pays interestAsset I pays interest
i t t f £10 i fi t ii t t f £10 i fi t i i t di t d–– interest of £10 in first year is reinterest of £10 in first year is re--investedinvested

–– gives holding of £110gives holding of £110
–– interest of £11 in second yearinterest of £11 in second year
–– plus principal of £110 gives total of £121plus principal of £110 gives total of £121plus principal of £110 gives total of £121plus principal of £110 gives total of £121



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)

A t G i t i lA t G i t i lAsset G appreciates in valueAsset G appreciates in value
–– value £110 after one yearvalue £110 after one year
–– value £121 after two yearsvalue £121 after two years

With t i t d t tiWith t i t d t tiWith no uncertainty and no transaction With no uncertainty and no transaction 
costs, expect individuals to be indifferent costs, expect individuals to be indifferent 
b t th 2 t i th b fb t th 2 t i th b fbetween these 2 assets in the absence of between these 2 assets in the absence of 
taxtax

Would like taxation to leave individuals Would like taxation to leave individuals 
indifferent between these 2 assetsindifferent between these 2 assetsindifferent between these 2 assetsindifferent between these 2 assets



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)
Standard income tax does not achieve thisStandard income tax does not achieve thisStandard income tax does not achieve thisStandard income tax does not achieve this
Asset IAsset I
–– tax on interest income of £10 in first yeartax on interest income of £10 in first year
–– tax on interest income of £11 in second yeartax on interest income of £11 in second year

Asset GAsset G
–– tax on realized gain of £21 in second yeartax on realized gain of £21 in second yeartax on realized gain of £21 in second yeartax on realized gain of £21 in second year
–– tax on accrued gain of £10 in first year is tax on accrued gain of £10 in first year is 

deferred until the asset is solddeferred until the asset is solddeferred until the asset is solddeferred until the asset is sold
Capital gains favoured over cash incomeCapital gains favoured over cash income
I ti t d f l f t th t hI ti t d f l f t th t hIncentive to defer sale of assets that have Incentive to defer sale of assets that have 
risen in valuerisen in value



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)

Rate of Return AllowanceRate of Return Allowance
Asset IAsset IAsset IAsset I
–– RRA 10% of £100 = £10 in first yearRRA 10% of £100 = £10 in first year

RRA 10% f £110 £11 i dRRA 10% f £110 £11 i d–– RRA 10% of £110 = £11 in second yearRRA 10% of £110 = £11 in second year
–– no tax paid (on normal return)no tax paid (on normal return)

Asset GAsset G
RRA 10% of £100 = £10 in first yearRRA 10% of £100 = £10 in first year–– RRA 10% of £100 = £10 in first yearRRA 10% of £100 = £10 in first year

–– no taxable income no taxable income → ‘tax loss’→ ‘tax loss’
–– carry forward, marked up at risk free interest carry forward, marked up at risk free interest 

rate → allowance of £11 in second yearrate → allowance of £11 in second year



Example (cont)Example (cont)Example (cont)Example (cont)

Asset GAsset G
–– RRA 10% of £100 = £10 in first yearRRA 10% of £100 = £10 in first year% y% y
–– no taxable income no taxable income → ‘tax loss’→ ‘tax loss’

carry forward marked up at risk free interestcarry forward marked up at risk free interest–– carry forward, marked up at risk free interest carry forward, marked up at risk free interest 
rate → allowance of £11 in second yearrate → allowance of £11 in second year

–– RRA 10% of £100 = £10 in second yearRRA 10% of £100 = £10 in second year
–– plus allowance carried forward gives totalplus allowance carried forward gives totalplus allowance carried forward gives total plus allowance carried forward gives total 

allowance of £10 + £11 = £21 in second yearallowance of £10 + £11 = £21 in second year
also no tax paid (on normal return)also no tax paid (on normal return)–– also no tax paid (on normal return)also no tax paid (on normal return)



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)

E ti th l t iE ti th l t iExempting the normal return on income Exempting the normal return on income 
from capital thus makes it straightforward from capital thus makes it straightforward 
to achieve uniform treatment of cash to achieve uniform treatment of cash 
income and capital gainsincome and capital gains
It makes no difference to our exampleIt makes no difference to our example
–– whether the riskwhether the risk--free real interest rate is 10%free real interest rate is 10%whether the riskwhether the risk free real interest rate is 10% free real interest rate is 10% 

and inflation is zeroand inflation is zero
–– or whether the riskor whether the risk--free real interest rate isfree real interest rate isor whether the riskor whether the risk free real interest rate is free real interest rate is 

3% and inflation is (approximately) 7%3% and inflation is (approximately) 7%
Effective tax rates do not fluctuate in anEffective tax rates do not fluctuate in anEffective tax rates do not fluctuate in an Effective tax rates do not fluctuate in an 
arbitrary way with price inflationarbitrary way with price inflation



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)

Easily checked that uniform treatment of Easily checked that uniform treatment of 
cash income and capital gains extends to cash income and capital gains extends to p gp g
assets with aboveassets with above--normal returnsnormal returns

Suppose the riskSuppose the risk--free interest rate is 5%, free interest rate is 5%, 
but assets I and G return 10%, as abovebut assets I and G return 10%, as abovebut assets a d G etu 0%, as abo ebut assets a d G etu 0%, as abo e

Asset IAsset I
–– tax base £10 tax base £10 -- £5 = £5 in first year£5 = £5 in first year
–– tax base £11tax base £11 -- £5 50 = £5 50 in second year£5 50 = £5 50 in second year–– tax base £11 tax base £11 -- £5.50 = £5.50 in second year£5.50 = £5.50 in second year



Example 2 (cont)Example 2 (cont)Example 2 (cont)Example 2 (cont)

Asset GAsset G
–– tax base £21 tax base £21 -- £5 £5 -- £5.25 = £10.75 in second year£5.25 = £10.75 in second yearyy

Present value of the tax base for asset I alsoPresent value of the tax base for asset I also

2222 051
75.10

051
5.5

051
05.15

051
5.5

051
5

=+
×

=+ 2222 05.105.105.105.105.1

S t l f t th b lSame present value of tax on the above-normal
component of the return, whether this comes as
capital gain or cash income



Rate of Return AllowanceRate of Return AllowanceRate of Return AllowanceRate of Return Allowance

Approach extends easily to portfolios rather Approach extends easily to portfolios rather 
than individual assets, and to assets held for than individual assets, and to assets held for ,,
periods that don’t coincide with tax yearsperiods that don’t coincide with tax years

In addition to information on income and In addition to information on income and 
realized capital gains, used to implement realized capital gains, used to implement p g , pp g , p
standard income tax, this just requires the standard income tax, this just requires the 
riskrisk--free interest rate to be specifiedfree interest rate to be specifiedriskrisk free interest rate to be specifiedfree interest rate to be specified
–– approximated by nominal yield on govt debtapproximated by nominal yield on govt debt



Rate of Return AllowanceRate of Return AllowanceRate of Return AllowanceRate of Return Allowance

Some advantages of this RRA approach Some advantages of this RRA approach 
over expenditure tax approachover expenditure tax approachp ppp pp
–– Govt not required to provide upGovt not required to provide up--front tax relief front tax relief 

i t f ( i f) f t t ti t f ( i f) f t t tin return for (promise of) future tax paymentsin return for (promise of) future tax payments

–– Closer to structure and operation of familiar Closer to structure and operation of familiar pp
income taxes income taxes 



Taxes on Capital IncomeTaxes on Capital IncomeTaxes on Capital IncomeTaxes on Capital Income

P ti hift t d t iP ti hift t d t iPragmatic shift towards taxing Pragmatic shift towards taxing 
consumption can combine different consumption can combine different 
approaches for different kinds of assetsapproaches for different kinds of assets

For ‘safe’ interestFor ‘safe’ interest bearing accounts simplybearing accounts simplyFor safe  interestFor safe  interest--bearing accounts, simply bearing accounts, simply 
exempt interest income from taxation (TEE exempt interest income from taxation (TEE 
approach; little or no rents)approach; little or no rents)approach; little or no rents)approach; little or no rents)

For pragmatic reasons, retain this For pragmatic reasons, retain this p g ,p g ,
treatment for ownertreatment for owner--occupied housing and occupied housing and 
limited holdings of other risky assets (ISAs)limited holdings of other risky assets (ISAs)g y ( )g y ( )



Taxes on Capital IncomeTaxes on Capital IncomeTaxes on Capital IncomeTaxes on Capital Income

F i i t i tF i i t i tFor pension saving, retain current For pension saving, retain current 
expenditure tax treatment (EET approach)expenditure tax treatment (EET approach)

For substantial holdings of risky assets For substantial holdings of risky assets 
(investment property mutual funds bonds(investment property mutual funds bonds(investment property, mutual funds, bonds, (investment property, mutual funds, bonds, 
equities, unincorporated business assets), equities, unincorporated business assets), 
introduce Rate of Return Allowanceintroduce Rate of Return Allowanceintroduce Rate of Return Allowanceintroduce Rate of Return Allowance

For corporate profits, Allowance for For corporate profits, Allowance for p p ,p p ,
Corporate Equity (ACE) exempts the Corporate Equity (ACE) exempts the 
normal return on corporate capital in the normal return on corporate capital in the p pp p
same way same way 



Small Business TaxationSmall Business TaxationSmall Business TaxationSmall Business Taxation

This approach could substantially simplify This approach could substantially simplify 
small business taxationsmall business taxationsmall business taxationsmall business taxation
–– ACE corporate taxACE corporate taxpp

–– RRA treatment of dividend income and capital RRA treatment of dividend income and capital 
gains on company sharesgains on company sharesgains on company sharesgains on company shares

–– RRA treatment of income from unincorporated RRA treatment of income from unincorporated pp
businessesbusinesses



Small Business TaxationSmall Business TaxationSmall Business TaxationSmall Business Taxation

Suitable alignment of personal and Suitable alignment of personal and 
corporate tax rates can then:corporate tax rates can then:pp
–– equalize tax treatment of income from equalize tax treatment of income from 

employment selfemployment self--employment and smallemployment and smallemployment, selfemployment, self employment and small employment and small 
companiescompanies
reduce incentives to convert labour incomereduce incentives to convert labour income–– reduce incentives to convert labour income reduce incentives to convert labour income 
into dividend income/capital gainsinto dividend income/capital gains

Scope for significant simplification of antiScope for significant simplification of anti--
avoidance legislationavoidance legislationavoidance legislationavoidance legislation



The Mirrlees ReviewThe Mirrlees ReviewThe Mirrlees Review   The Mirrlees Review   

http://www.ifs.org.uk/mirrleesReviewhttp://www.ifs.org.uk/mirrleesReview


